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= 30,000
= 7,500
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203 ¥ 2 =& 2,000 2,200 A 200
03 Al 2 =& 2 = X H| 2,000 2,200 A 200
OZ2222H ¢ o AHHIA A=A 2,000
S XA = 570,474 727,946 N 157,472
101 Q124 H| 133,930 104,126 29,804
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OBAHI& BXxo8E
71,000& = 5 x 324 115,020
o482 115,020,000 = 16.44% 18,910
201 gEt24Hy| 240 0 240
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OS2 E A 240
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O=3ldlage =& 9,504
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A EAA
dM: ZZEBHY=ZMHIA JIs2ZE
& S32AA= HHA T& (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 10,000 10,000 0
02 =224l 10,000 10,000 0
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01 AP 2teltl 16,560 0 16,560
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O824 gReEs Zd3
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Os&s229 A<
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OBESEBHIYAMN 54 dXE  385,0008 » 128 4,620
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O=&R= 5,520
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==Ra DN EN 50,000& * 9JH A 450
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ORdegs =4E 948
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S MHlA JIsZsEt
S MNHIA X&

¥y
1o lo
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 7,128 3,120 4,008
oxgssazg g2 =& 7,128
AsdE=EHI E= N 3,000 0 3,000
J| 1,500
< 750
e 750
201 Let2d] 3,000 0 3,000
J| 1,500
< 750
e 750
01 At 22l 3,000 0 3,000
OXsaZsd) 228 ¢ 3,000
J| 1,500
S 750
s 750
HAXNS=s2d=02 2HXE 215,000 200,000 15,000
J| 215,000
307 21201 A 215,000 200,000 15,000
J| 215,000
02 It S AHE L 215,000 200,000 15,000
OoFldxssod=zla 29XA 215,000
J| 215,000
ZEE2CMA =g X oLESLE 829,175 1,030, 145 /200,970
J| 272,581
= 68,577
i 488,017
2gg 2el 304,014 295,297 8,717
J| 46,368
= 4,695
s 252,951
LdALS 119,894 154,087 A 34,193
101 1A Hl 16,004 15,557 447
04 JIZHHZ22XREE S 16,004 15,557 447
OLALS LRBXE 16,004
=0 68,7203 = 200 13,744
-AHEE = 13,744 ,000& * 16.44% 2,260
201 Lt 3,000 2,500 500
01 At 22l 3,000 2,500 500
Ozt +6 2 SYBE 7 3,000
206 = Hl 96,530 136,030 A 39,500
01 MHZ 4l 96,530 136,030 239,500
OaZH 35,000& * 1,000= 35,000
Oss+H 25,000& * 1,000= 25,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ol M 2,000& = 15,0002+ 30,000
Oz=A=H 10,0002 * 50074 5,000
OgIEASEH &7 1,700& * 900L 1,530
405 RHoHE S HI 4,360 0 4,360
01 L ESFHSHI 4,360 0 4,360
OgHAASEH 4,360
TEE cotdeAS)|(Ho, 25)
1,650,000& = 2CH 3,300
“EUS HAASII(BY, 23
530,000& = 20H 1,060
s A 950 950 0
307 21201 A 950 950 0
01 927 24| 950 950 0
OJIM=E Xg 43 500
ORs A 1,500& * 3004 450
28 S A 57,602 57,904 A 302
101 @124 dl 24,802 24,104 698
4 D12t Z2XREES 24,802 24,104 698
OHZE ZE8E3A 2 24,802
=0 71,000& » 300 21,300
-AHEE S 21,300,000& * 16.44% 3,502
201 Let24d] 4,800 4,800 0
01 At 2teltl 4,800 0 4,800
OgtAb ZHI(PACS server)s Xl 22|
400,000& » 128 4,800
307 21201 A 28,000 29,000 A 1,000
01 922724l 28,000 29,000 A 1,000
OZALY Al & JIKHM 28,000
Z2EE ol 15,732 13,320 2,412
201 Let24d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
OZZE MY 2EES 3,000
202 O4dl 11,232 10,320 912
01 = LH 4 HI 11,232 10,320 912
OZgd oy & =aeX 11,232
203 YR =2t 1,500 0 1,500
03 Al =AY R =& 1,500 0 1,500
OZgg e A=A 1,500
OOl & 0 5,460 2,760 2,700
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= 819
= 1,911
307 2iz2to| A 5,460 2,760 2,700
J| 2,730
&< 819
= 1,911
o1 s =t 5,460 2,760 2,700
OHdoH2eEd ! & 760
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& 114
= 266
OHIV / AIDS 3,700
J| 1,850
& 555
= 1,295
OHIV &I CHAl 2 1,000
J| 500
& 150
= 350
std=2X &3 X 17,100 17,100 0
307 QI2t0| & 17,100 17,100 0
05 QIZtREZ 17,100 17,100 0
Ostd =X & &l 17,100
224 Zsiag] 81,276 46,176 35,100
J| 40,638
& 3,876
= 36,762
101 121 H| 52,560 34,400 18, 160
Dl 26,280
= 26,280
04 JI2ZtHIZ22NEES 52,560 34,400 18, 160
OZsisx 2 52,560
234U
,144 0008 = 2% « 108 42,880
J| 21,440
= 21,440
= 400,000& * 2% x 23] 1,600
J| 800
= 800
-FE L+ 50,000& * 2 = 10€ 1,000
J| 500
= 500
-dHZ A 130,000& * 29 = 10& 2,600
J] 1,300
= 1,300
-2XEQE 400,000& » 2 * 23] 1,600
J| 800
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